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8 Sam and Max work in a shop from Monday to Friday.

 Sam draws a graph to show the number of TVs they each sell.

 Write down three things that are wrong with this graph.

1  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 8 is 3 marks)

9 Here is a list of numbers

12    19    12    15    11    15    12    13    17

 Find the median.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 9 is 2 marks)
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7 ABCD is a square.
 This diagram is drawn accurately.

A B

D C

 What fraction of the square ABCD is shaded?

 .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 7 is 2 marks)

1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

Specimen 2017, 2F Q9:  2 Marks
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6 Here is a list of numbers.

12     15     14     17     22     19     13

 Bridgit says,
     “To work out the median you find the middle number,
     so the median of these numbers is 17”

 Bridgit’s answer is not correct.

 (a) What is wrong with Bridgit’s method?

... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 (b) Work out the range of the numbers in the list.

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (c) Work out the mean of the numbers in the list.

 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 6 is 5 marks)

2. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2017, 3F Q6:  5 Marks

Questions compiled by:
@Maths4Everyone

Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK
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Answer ALL TWENTY TWO questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 (a) Write 3 × 3 × 3 × 3 × 3 as a single power of 3

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 (b) Write 7 7
7

5 9

6
×  as a single power of 7

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 1 is 3 marks)

2 Here are Ryan’s scores in nine French tests.

4      6      4      7      8      a      6      7      7

 The mean of Ryan’s nine scores is 6

 Work out the value of a.

a = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 3 marks)

Do NOT write in this space.

3. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4HR Q2:  3 Marks

Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

3838 Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 
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11 In a shop, the normal price of a coat is £65
 The shop has a sale.

 In week 1 of the sale, the price of the coat is reduced by 20%
 In week 2 of the sale, the price of the coat is reduced by a further £10

 Maria has £40

 Does Maria have enough money to buy the coat in week 2 of the sale?
 You must show how you get your answer.

(Total for Question 11 is 3 marks)

6
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10 The manager of a clothes shop recorded the size of each dress sold one morning.

 10 10
 12 12
 14 14 14 14 14 14
 16 16 16 16
 18 18 18
 20 20 20

 The sizes of dresses are always even numbers.
 The mean size of the dresses sold that morning is 15.3

 The manager says,
“The mean size of the dresses is not a very useful average.”

 (i) Explain why the manager is right.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (ii) Which is the more useful average for the manager to know, the median or the mode?
  You must give a reason for your answer.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 2 marks)

4. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

9-1 Set 1 2017, 2F Q10:  2 Marks
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7 Six numbers have a mean of 5

Five of the numbers are 

3   2   7   6   2

 The other number is x.

 Work out the value of x.

x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 7 is 3 marks)

Do NOT write in this space

5. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 4H Q7:  3 Marks

4
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3 Here are 8 cards.  

 There is a number on each of six cards.
 Two cards are blank.

 
3 1 5 5 2 3

 Uzma wants the mean of the numbers on the 8 cards to be 4 
 She wants the range of the numbers on the 8 cards to be 9

 Find the numbers that she should write on the two blank cards.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . and .. . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 3 is 3 marks)

4 Karen has a spinner.

 When the spinner is spun once, the probability that it will land on yellow is 2
5 Karen spins the spinner 30 times.

 Work out an estimate for the number of times the spinner lands on yellow.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 4 is 2 marks)

6. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q3:  3 Marks
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6 Here is a list of numbers written in order of size.

3        6        x        y

 The numbers

 have a median of 8

 have a mean of 11

 Find the value of x and the value of y.

x� �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y� �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 6 is 3 marks)

7. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2016, 4HR Q6:  3 Marks

4
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3 Solve   7x x + 2
Show your working clearly.

x . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

 (Total for Question 3 is 3 marks)

4 Three positive whole numbers have a median of 7 and a mean of 5

Find the range of these three numbers.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 4 is 3 marks)

Do NOT write in this space.

8. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2012, 4H Q4:  3 Marks
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7. (a) Four numbers have a mean of 6
  Three of the numbers are 3, 7 and 10
  Find the other number.

...........................
 (2)

 (b) Three numbers have a mode of 5 and a mean of 6
  Find the three numbers.

...........................
 (2)

 (c) Find four numbers which have a mode of 7 and a median of 6

...........................
 (2)

8. (a) Solve  3(x + 4) = 27

x = ...........................
 (3)

 (b) Solve  y2 – 2y – 120 = 0

y = ...........................
 (3) Q8

(Total 6 marks)

Q7

(Total 6 marks)

9. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2006, 4H Q7:  6 Marks

!K 0C'+$'#&+C'%ACD+-6+#+A(-,4+-6+:+A%(.*+%*+<YX 7$H

8#9 T-(O+-,D+DC'+D-D#.+C'%ACD+-6+DC'+:+A%(.*H

HHHHHHHHHHHHHHHHHHHHHHHHH 7$

CNE

K#(#C+_-%&*+DC'+A(-,4+#&2+DC'+$'#&+C'%ACD+-6+DC'+Y+A%(.*+%*+<YR 7$H

8I9 T-(O+-,D+K#(#C)*+C'%ACDH

HHHHHHHHHHHHHHHHHHHHHHHHH 7$

COE

C;&/,<)!)-,:M0E

QK 3.,$I'(*) *-.2'(+%*+$#2'+6(-$+D%&+#&2+.'#2H

0C'+(#D%-+-6+DC'+N'%ACD+-6+D%&+D-+DC'+N'%ACD+-6+.'#2+%*+< B >

8#9 T-(O+-,D+DC'+N'%ACD+-6+D%&+#&2+DC'+N'%ACD+-6+.'#2+%&+<>? A(#$*+-6+4.,$I'(*) *-.2'(H

D%&+ HHHHHHHHHHHHHHHHHHHH A

.'#2+HHHHHHHHHHHHHHHHHHHH A

CDE

8I9 TC#D+N'%ACD+-6+4.,$I'(*) *-.2'(+7-&D#%&*+>Y A(#$*+-6+D%&`

HHHHHHHHHHHHHHHHHHHHHHHHHHH A

CNE

C;&/,<)O)-,:M0E

#$%&$
'(%)*

E>?U<<5Q :

PQ

P!

10. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q4:  4 Marks
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4 w, x, y and z are 4 integers written in order of size, starting with the smallest.

 The mean of w, x, y and z is 13
 The sum of w, x and y is 33

 (a) Find the value of z.

z = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 Given also that the range of w, x, y and z is 10,

 (b) work out the median of w, x, y and z.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 4 is 4 marks)

11. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3H Q4:  4 Marks
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4

5.6 cm

x  cm3.7 cm
Diagram NOT 
accurately drawn

 Work out the value of x. 
Give your answer correct to 3 significant figures.

x = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 4 is 3 marks)

5 Three positive whole numbers have a mean of 4 and a range of 7

 Find the three positive whole numbers.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .    . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .    . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 5 is 2 marks)

12. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 3H Q5:  2 Marks

8

*P44392A0824*

6  The mean height of a group of 6 children is 165 cm.
 One child, whose height is 155 cm, leaves the group.

 Find the mean height of the remaining 5 children.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm

(Total for Question 6 is 3 marks)

7 

 Work out the value of x.
 Give your answer correct to 3 significant figures.

x =. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 7 is 3 marks)

5.4 cm

x cm 12.8 cm

Diagram NOT 
accurately drawn

13. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2015, 3HR Q6:  3 Marks
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7 There are 10 boys and 20 girls in a class.
 The class has a test.

 The mean mark for all the class is 60
 The mean mark for the girls is 54

 Work out the mean mark for the boys.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 7 is 3 marks)

8 (a) Write  7.97 × 10í6  as an ordinary number.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

 (b) Work out the value of  (2.52 × 105) ÷ (4 × 10í3)
  Give your answer in standard form.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 8 is 3 marks)

14. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2017, 1H Q7:  3 Marks

3

*P40661A0320* Turn over

Answer ALL TWENTY TWO questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Work out the value of 6 6 1 2
4 4 2 75

. .
. .

×
−

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2 A group of students take a test.
 The group consists of 12 boys and 8 girls.
 The mean mark for the boys is 18
 The mean mark for the girls is 16.5

 Calculate the mean mark for the whole group.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 4 marks)

15. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 4H Q2:  4 Marks
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9 Three positive whole numbers are all different.
 The numbers have a median of 8 and a mean of 6
 Find the three numbers.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 9 is 2 marks)

10 (a) Solve the inequality     3x + 8 < 35

... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Write down the inequality shown on the number line.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 10 is 4 marks)

–5 –4 –3 –2 –1 0 1 2 3 4 5
x

16. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2015, 4H Q9:  2 Marks

12
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9 There are 30 apples in a box. 
 The mean weight of these 30 apples is 120 grams.

 There are 10 apples in a bag.
 The mean weight of these 10 apples is 95 grams.

 Work out the mean weight of the 40 apples.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .grams

(Total for Question 9 is 3 marks)

10 Solve   4x + 3y� ��

 3x + 5y� �í��

 Show clear algebraic working.

x  �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

y  �. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 4 marks)

17. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2016, 4HR Q9:  3 Marks
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8 The mass of Jupiter is 1.899 × 1027 kg.
 The mass of Saturn is 0.3 times the mass of Jupiter.

 (a) Work out an estimate for the mass of Saturn.
  Give your answer in standard form.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . kg
(3)

 (b) Give evidence to show whether your answer to (a) is an underestimate or an overestimate.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 8 is 4 marks)

9 Walkden Reds is a basketball team.

 At the end of 11 games, their mean score was 33 points per game.
 At the end of 10 games, their mean score was 2 points higher.

 Jordan says,
“Walkden Reds must have scored 13 points in their 11th game.”

 Is Jordan right? 
You must show how you get your answer.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 

(Total for Question 9 is 3 marks)
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7 (a) Write down the exact value of cos30°

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(1)

 (b)

x cm
12 cm

30°

  Given that sin30° = 0.5,
  work out the value of x.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
(2)

(Total for Question 7 is 3 marks)

18. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

9-1 Set 1 2017, 1H Q9:  3 Marks

9

*P43028A0924* Turn over

9 

 The diagram shows a prism.
 The cross-section of the prism is an isosceles triangle.
 The lengths of the sides of the triangle are 13 cm, 13 cm and 10 cm.
 The perpendicular height of the triangle is 12 cm.
 The length of the prism is 8 cm.

 Work out the total surface area of the prism.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  cm2

(Total for Question 9 is 3 marks)

10 Zara must take 5 tests.
 Each test is out of 100
 After 4 tests, her mean score is 64%.

 What score must Zara get in her 5th test to increase her mean score in all 5 tests to 70%?

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 4 marks)

13 cm

10 cm

12 cm

13 cm

8 cm

Diagram NOT 
accurately drawn

19. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 3H Q10:  4 Marks
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20. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2010, 3H Q9:  4 Marks

9

*P42941A0920* Turn over     

9 E = {positive whole numbers less than 13}
 A = {even numbers}
 B = {multiples of 3}
 C = {prime numbers}

 (a) List the members of the set

  (i) A ��B

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

  (ii) B ��C

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Is it true that 14 � A?

  Tick (9) the appropriate box.
 Yes No

  

  Explain your answer.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 9 is 3 marks)

10 The mean of four numbers is 2.6
 One of the four numbers is 5

 Find the mean of the other three numbers.

.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 3 marks)

Do NOT write in this space.

21. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2014, 4H Q10:  3 Marks
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A B

C D
P

Q R

62°

71°

x° y°

Diagram NOT
accurately drawn

Q$

I<'0-=*J*.-;N1K

22. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2010, 3H Q3:  2 Marks

11
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11 a��b��c DQG�d are four integers. 
Their mean is 8 
7KHLU�PRGH�LV��

� 7KHLU�PHGLDQ�LV����

� �D�� )LQG�WKH�YDOXH�RI�WKH�ODUJHVW�RI�WKH�IRXU�LQWHJHUV�

. . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

� �E��)LQG�WKH�PHDQ�YDOXH�RI�WKH�QXPEHUV���a�í��������b�í��������c�í����DQG����d�í����

. . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

(Total for Question 11 is 4 marks)

Do NOT write in this space.

23. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q11:  4 Marks


